Simplifying 0

. 39:52 15:20
Ratios 0
Instructions: Write each -

18:24
ratio in its simplest form.
Find your answer in the 18:24
table below to work out

what colour each part

will be.
Yellow 2:3
Blue 1:4
Brown 2:5
White 3:4 %
Red 1:2 9:12
12:16




Simplifying
Ratios
Answers

Instructions: Write each
ratio in its simplest form.
Find your answer in the
table below to work out
what colour each part

will be.
Yellow 2:3
Blue 1:4
Brown 2:5
White 3:4

REd. 1:2 ' : l 30:40
‘ \ 42:56 9:12 33:44
24:32 36:48 -




